50 Trail Ride lepaneTpag
2025

NMpoowpiva AltoteAéopata PETA TRV RS02: Mpiva - AvatoAn

OMAE

ONOITONIIA WEXANOKINKTOY
ABANIIINGY EARRSOE

06nyog Kat Métpnon MowvA Reg 06nyog Kat MowA Reg
Zvvodnyoc Opada Z16)x0G Mowv/Kab/Mpo Zvvobnyoég Opada Mowv/Ka®/Mpo
Oxnpa ‘EToG KuA/opog Zbvolo Oxnupa ‘EToG KuA/opog Zovolo
BIAAKHZ AMOZTOAOZ = A2 16.6 16.6+ BIAAKHZ AMOZTOAOZ = A2 (1) 67.3
BAZAPMIAHZ IQANNHZ = A2 - - BAZAPMIAHZ IQANNHZ = A2 (1) -
NISSAN NAVARA 1990 2000cc 16.6 NISSAN NAVARA 1990 2000cc 67.3
BITZAPAZ XPIZTOZ = A2 52.7 52.7+ BITZAPAZ XPIZTOZ = A2 (2) 218.1
MMAPOYMAZ IQANNHZ = A2 - - MMAPOYMAZ IQANNHZ = A2 (2) -
MITSUBISHI L200 1990 2000cc 52.7 MITSUBISHI L200 1990 2000cc 218.1
KIKAKHZ NIKOAAOZ = Al 5:01.6 301.6+ SCMID CHRISTIAN ) A2 (3) 802.4
KAPTZAKHZ NIKOAAOZ = Al - - NMPQTOWAATHZ EMMANOYHA = A2 (3) -
SUZUKI JIMNY 1990 1300cc 301.6 JEEP WRANGLER 1990 2000cc 802.4
SCMID CHRISTIAN = A2 10:00.0 600.0+ KIKAKHZ NIKOAAOZ = Al (1) 901.6
NMPQTOWAATHZ EMMANOYHA = A2 - - KAPTZAKHZ NIKOAAOZ = Al (1) -
JEEP WRANGLER 1990 2000cc 600.0 SUZUKI JIMNY 1990 1300cc 901.6
AIONTAKHZ AFTEAOZ = H1 10:00.0 600.0+ AIONTAKHZ AFTEANOZ = H1 (1) 1194.3
ZAMMPOBAANAKHZ EMMANOYHA = H1 - - ZAMMPOBAANAKHZ EMMANOYHA = H1 (1) -
SUZUKI JIMNY 1990 1300cc 600.0 SUZUKI JIMNY 1990 1300cc 1194.3
IQANNIAHZ NIKOAAOZ = H1 10:00.0 600.0+ IQANNIAHZ NIKOAAOZ = H1 (2) 1200.0
BAPAA MAPINENA = H1 - - BAPAA MAPIANENA = H1 (2) -
SUZUKI JIMNY 1990 1300cc 600.0 SUZUKI JIMNY 1990 1300cc 1200.0
NATZO ANAPEA = H1 10:00.0 600.0+ NATZO ANAPEA = H1 (3) 1200.0
MOLLAN]JI KLEMEND [ ] H1 - - MOLLANJI KLEMEND [ ] H1 (3) -
SUZUKI JIMNY 2000cc 600.0 SUZUKI JIMNY 1990 2000cc 1200.0
KAPO®YAAKHZ MIXAHA = H2 10:00.0 600.0+ KAPO®YAAKHZ MIXAHA = H2 (1) 1200.0
AAZKANAKH EYATTEAIA = H2 - - AAZKAANAKH EYATTEAIA = H2 (1) -
TOYOTA HILUX 2000cc 600.0 TOYOTA HILUX 1990 2000cc 1200.0
METAZAKHZ EMMANOYHA = H2 10:00.0 600.0+ METAZAKHZ EMMANOYHA = H2 (2) 1200.0
MAPFAPITAKHZ IQANNHZ = H2 - - MAPFAPITAKHZ IQANNHZ = H2 (2) -
TOYOTA HILUX 1990 2000cc 600.0 TOYOTA HILUX 1990 2000cc 1200.0
IQANNIAHZ ANTQNIOZ = H2 10:00.0 600.0 + IQANNIAHZ ANTQNIOZ = H2 (3) 1200.0
IQANNIAHZ EAEYGEPIOZ = H2 - - IQANNIAHZ EAEYGEPIOZ = H2 (3) -
NISSAN D21 2000cc 600.0 NISSAN D21 1990 2000cc 1200.0

www.facebook.com/groups/2053

Results by sportstiming.gr
using TrailMaster Historic v2.3

25/05/2025 13:35
ZeA(ba 1/1



